


2002

CE (LDV D/N EN61010-1
EMC EN 55022 1994 /A1 1995/A2 1997
EN 61000-3-2 1995/-3-3 1995
EN 61000-4-2 1995/-4-3 1996/-4-5 1995/ -4-6
1996/-4-8 1993/ -4-11 1996/ EN 50204 1995)
QC
!
1.
P VB OJo
P S \[3 0o
S === B VAL
OO | e — S 7 0]o p@@mﬁ@(D P4 0[O
COOOOcancOIc () QDB C?]EDD%% s H§@® S D
EOO00) @ ¢ soses | FTlHEe | Heue
FY900 FY800 FY700 FY600 FY400
1.1
PV (process value) 4
SV (setting value) 4
1. 2 ED
OouT1 (Outputl)
ouT2 (Output2)
AT (Auto Tuning)
PRO (Program)  ----- PFY
AL1 (Alarm 1)
AL2 (Alarm 2)
AL3 (Alarm 3)
MAN (Manual)

(Error) MAN




SET ( )

AN

7 ( -1 -10 -100 -1000)
VAN ( +1 +10 +100 +1000)
A/M (Auto)/ (Manual)
OUTL( User Level )
2 (Auto tuning)
2.2 AT( UserLevel ) YES
2.3 PID
PID
PID
2.4 ATVL (AutoTuning offset Value)
SV ATVL ATVL
PV (Overshoot)
SVv=200 ATVL=5 195
PV 195
PV 200
PFY ATVL AT=YES
25
1 ATVL ( ATVL "0)

2 ( PD )



IN1E

INPUT 1 ERROR

ADCF A/D converter failed.
A/D

CJCE Cold junction compensation failed.
IN2E INPUT 2 ERROR
Uuul USPL.
NNN1 LSPL.
uuu2 USPL.
NNN2 LSPL.

RAMF RAM FAILED

INTF Interface failed.
AUTF Auto tuning failed.




4.

4.1 LEVEL 1 (User Level)
(Procegp Pallue

(Settin SValfue
Slet Level 2
\i ( SET5 )
OUTL
>
(Output Li 1?0,
set
Y
AT
(Auto Tuning) YESI./NO
set
Y
ALl
(Alarm 1 § 0
|
set
Y
AL2
(Alarm 2 3
I
set
Y
AL3
(Alarm 3 ¢4 0O
411 q
AN
A4
(SET)
4.1.2 (SET)
4.1.3 Level 1(User Level) (SET)5 Level 2
(PID Level) Level 2 (SET)5
Level 1
41.4 Level 1
4.1.5 LEVEL AM Level 1

4.1.6 OUTL o ,



=SSVGAP

=S WGAP

42  LEVEL 2 (PID Level)
(SET)5 Level 2
P1 0.0-2 0090
3.0 P=0 ONOFF
+Set
1 03600
240 1=0
+Set
D1 0900
60 D=0
+Set
dob ] Dead-band TiDmem't care
y Set
ATVL 0~USPL
0 (Auto tuning offset Value)
{sSet 0150
CYT1 SSR =1 4~2MA =0
1+0 (Cycle time Rlel|ay 10
Set
P1=0.0 HYS1 0-10@MOF F )
- 1 (Hysteresis PV)y (S¥HYB OFF
ySet PV (SWHYB ON
P2
-1 3.0 F1
y Set
| 2
240 11
+Set
D2
+Set
CYT?2
P2=0.0 10 (Cycle time ZC)Y]T
+Set
I—> HYS?2
1 (Hysteresis ZWYB
ySet
GAP1 (
0 (
+Set
i 2 G(/—)\PZ ( (
+Set
LCK
0000
vSet | w000 Legel SET LEVEL
PL  Lck=111 Leyel LEVBL
LCK=100 Leviel e v2e |
LCK=110 Leviel e Ve | Leviel
LCK=001 Leviel Y,
LCK=101 LCK



43  LEVEL 3 (INPUT Level)

LCK=0000 (SET) s LEVEL 3
I NP1
KD (Input 1) P1213
+Set
ANL 1 ! !
0 (Anal og input L0-1W99p909|9n9t 1)
#Set
ANH1 " !
5*000 (Analog input Hi°%GA%9P3int 1)
Set
DP 0O0OOOQOMOMOOOOO
0000 (Decimal poi ntl)NIPAN~ AN )
*Set
LSPL
0.0 (Lower set-point Iimit)
*Set
USPL
400./10(Upper set-point |1 imit)
‘Set
ANL 2
0 (Analog input Lo'lvvg%gog“lgngt 2)
*Set
ANH?2 ! ! -
5000 (Analog input Hiog%g%%int 2)
*Set
ALD1 069
01 (Al arm mode off AL#HSP )
y Set 09959
ALTI1 0 9% 9
10 (Alarm 1 time set) ded)ay
y Set ( ALD=07 Re | QNy )
ALD?2
01 (Alarm mode ofAIAI?_Z)
‘Set
ALT?2
0 (Alarm 2 ti me Asl‘eJ]E)
Set
ALD3
01 (Alarm mode ofALA]?_3)
{Set
ALTS3
0 (Alarm 3 ti me Asl‘e]]E)
Set
HYSA
0 (Hystersis of aloalrorrcl))o
‘Set
CLO1
230] (Calibrate the 1% %2V R%1 ue of

ySet output 1)
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(Calibrate the highﬂ/%?geg of output 1)
(Calibrate the IovaLaIPue of output 2)
(calibrate the highCH®B1ue of output 2)

Transmitter
(Calibrate the low GlaPue of out put 3)

(TngInng“rfaigrthe highCH/(%Iue of output 3)
vVad)ve 5200
0=
( PFY ) =
P2 2"SETA

(1D number) 0~-99

1108001200
(Baudrat e) 2400809600 s
SV
(SV compensation) 104000
PV
(PV compensation) LSPL~-USPL
PV SV C() H) AAna)l og
o( Soft Filter) ( )

don't car e
/ helat) co(ol)

PI DFuzzy

506BZ



4.4  LEVEL 4 (SET Level)
LCK=1111 (SET) (5 LEVEL 4
4.4.1
SET _Jl_— —  SET SET * SET
o(1({0|1}H— — 2
SET * 1
SET * 2
SET * 3
SET * 4
442  SET
SET SET
1.1 OUTL 5.1 CLO2 CHO2
1.2 AT 5.2 CLO3 CHO3
1.3 AL1 5.3 RUCY WAIT SETA
1.4 AL2 5.4 IDNO BAUD
2.1 AL3 6.1 SVOS
2.2 ANL1 ANH1 DP 6.2 PVOS
2.3 LSPL USPL 6.3 UNIT
24 ANL2 ANH2 6.4 SOFT
3.1 ALD1 7.1 CASC
3.2 ALT1 7.2 OuD
3.3 ALD2 7.3 OPAD
3.4 ALT2 7.4 HZ
4.1 ALD3
4.2 ALT3
4.3 HYSA
4.4 CLO1 CHO1




SET
8.1 0=
1=
8.2 0= PFY
1=
8.3 0= "0"
1: 11PVH
9.3 SV 13 ”
94 PV
0.3 0= Remote SV
1= Remote SV
) SET8.3=1( "PV” )
"TIMR”
PV
) SET 8.4
SET8.4 "1 " §
PV
XXX1| (X 0 1)
q "XXX0”
443 LCK
LCK=0O00O0 Level (SET LEVEL)
LCK=11 Level (LEVER
LCK=100 LevelLelvel 2
LCK=L10 LevelLelvel 2 Level 1
LCK=001 Level 1 SV

LCKW=101 LCK




10

4.5 PROGRAM LEVEL ( PFY
LEVE|L
+Set
PTN SV- 9
1
+Set " " y Set
SEG TM-5
-1 N
{Set " " *Set
TI MERR OUT- |5
{Set *Set
SV-1 SV SV-§
LSPL~USPLU
ysSet y Set
TM- 1 TM- 6
099 59
y Set y Set
OUT-11 OUT- |6
100 01 O®
}Set +Set
SV- 2 SV SV- 17
LSPL~USPL
ysSet y Set
TM- 2 TM- 7
099 59
+Set *Set
OUT- |2 OuUT-]7
0-1 O®
{Set *Set
SV-3 SV SV- 8
LSPL~USPL
ySet y Set
TM- 3 T M- 8
099 59
*Set ‘Set
OUT- |3 OUT- |8
01 O®
y Set y Set
SV-4 SV LEVEL
LSPL~USPL
vy Set
TM- 4
099 509
+Set
OuUT-4
0-1 O®

SV
LSPL~USPL

099 59

01 ®

SV
LSPL~USPL

099 59

01 ®

SV
LSPL~USPL

099 59

01 ®

SV
LSPL~USPL

099 59

01 ®



45.1 ( )

45.2
1.
VAN (RUN) PRO
N\ (HOLD) PRO
A SET (JUMP)
YV o+ sET (RESET) PRO
2.
ALD1 =07 ( p.15)
AL1=2 ( )
ALT1=00.10  ( 10 ).
Alarm 1 relay ON 10
OFF
ALT1=00.00,AL
ALT1=99.59,AL ON PROGRAM RESET
3.
" "(END) 8
ouT 0
ALD1 =17( SP15 SETA4  SP.22)
8 16 "PV " "END"
Alarm1 Relay
4,
PTN=1 8 )
PTN=2 8 )
PTN=0 ( 16 )
( PTN
0 )
5. ( LEVEL 4)
SET 8.1=1
SET 8.2=0
SET 8.2=1
(
SET 8.3=0 "o

SET 8.3=1 "PV”

1



5.1

(INP1)

K1 0.0~200.0 /0.0~392.0
K2 0.0~400.0 /0.0~752.0
K K3 0~600 /O0-~1112
K4 0~800 /O0-~1472
K5 0~1000 /0 ~1832
K6 0~1200 /0-~2192
J1 0.0~200.0 /0.0~392.0
J2 0.0~400.0 /0.0~752.0
J J3 0~600 /0-~1112
J4 0~800 /O0-~1472
J5 0~1000 /0 ~1832
J6 0~1200 /0 ~2192
R1 0~1600 /0 ~2912
R R2 0~1769 /0 ~3216
S1 0~1600 /0 ~2912
S S2 0~1769 /0 -~3216
B Bl 0~1820 /0 ~3308
El 0~800 /0-~1472
E E2 0~1000 /0-~1832
N1 0~1200 /0-~2192
N N2 0~1300 /0 ~2372
T1 0.0~400.0 /0.0~752.0
T T2 0.0~200.0 /0.0~392.0
T3 0.0~350.0 /0.0~662.0
w1 0~2000 /0 ~3632
W w1 0~2320 /0~2372
PL PL1 0~1300 /0 ~2372
PL 2 0~1390 /0-~2534
Ul -199.9~600.0 /-199.9~999.9
U U2 -199.9~200.0 /-199.9~392.0
U3 0.0~400.0 /0.0~752.0




L1 0~400 /0-~752
L L2 0~800 /O0-~1472
JP1 -199.9~600.0 /-199.9~999.9
JIS JP2 -199.9~400.0 /-199.9~752.0
JP3 -199.9~200.0 /-199.9~392.0
PT100 JP4 0~200 /0 ~392
JP5 0~400 /0O ~752
JP6 0~600 /O0-~1112
DP1 -199.9~600.0 /-199.9~999.9
DIN DP 2 -199.9~400.0 /-199.9~752.0
DP 3 -199.9~200.0 /-199.9~392.0
PT100 DP 4 0~200 /0-~392
DP 5 0~400 /0~752
DP 6 0~600 /O0-~1112
JP.1 -199.9~600.0 /-199.9~999.9
JIS JP.2 -199.9~400.0 /-199.9~752.0
JP.3 -199.9~200.0 /-199.9~392.0
PT30 JP4 0~200 /0~392
JP.5 0~400 /0O ~752
JP.6 0~600 /O0-~1112
AN1 AN1 -10~ 10mV /-1999~9999
AN2 AN2 0~ 10mV /-1999~9999
AN3 AN3 0~ 20mV /-1999~9999
AN4 AN4 0~ 50mV /-1999~9999
ANS5S ANS 10 ~ 50mV / -1999~9999

” K2”

13




6.1

(ALD)

00/10

01

02

12

03

13

04/14

05

15

06

16

07

PFY

17

( PFY

08

(ON)

18

(OFF)

19

14




6.2

A sV

00
10

( )
01 OF ON

ow N\ A /\HiGH

1 OFF ON
ow /\ A /\HIGH
( )
021 on OFF
LOW A /\HGH
121 on OFF
ow /\ A /\HGH

031 on OFF ON
ow A\ A HIGH
13| own OFF ON
ow A\ A HIGH
04
14 | OFF ON OFF
LOW A HIGH
( )
05 OFF ON
LOW A\ HIGH

15

15 OFF ON
LOW HIGH
(
06 ON OFF
LOW HIGH
16 ON OFF
LOW HIGH
( PEFY )
(1) AL=DI-~3
(2) ALI-3
07 (3) ALT1-3
=0
=99.59
( SETA PP
( PFY )
17
ON OFF AL
©N
08 |
OFF ON AL
(OF)F
18 |
ON OFF AL
09
19 (P\;ts v |
:00.00~99.59 ( )




“TC —"RT PC )

( )
TC mV —— RID PC ( )
()
RTD—— TC mV PC ( )
INPL

96x96 48x96, 96 x48

(PC

)

[ (7473 [F4 [CA[74 [(1 137471

72 x72
(PC)

g

EEEE fAna

RTD
7TCor mV
¢-'A
(om) c“f
RTD

m/

4 8 x4 8
(PC)

@iﬂﬁ

o=

[e][7][8][o][14¢

PC

RTD
;§§77//morw
“‘Re I”ay— “SS'R— “4 ~2 O mA

CYT1

16



“HEAT/ AC-ARMEAT/ COOL

( PC )
HEAT / ALARM

98640698648
( PC Board )

o
O
'T"\

AlL3

ouzx

[N 2

7 2 x7 2
( PC Board )

ouzx
§
3

All

IR D N

4 8 x4 8
( PC Board )

—_ oux
i

|

All

[el[1lE1lel [ ]

17

HEAT / COOL

980648069848
( PC Board )

B 2

4 8 x4 8
( PC Board )

—_ ouzx
z

All

Bkl E|



10. 0~19Y~5Y9~1O0nA

10.1
96%x96 48x96 96x48 72%x72 48x48
(+) 17 11 7
(-) 20 14 10
0~20mA (INP1=AN4) (R3 100Q R5 24Q S3 S5 )
4~20mA (INP1=AN5) (R3 100Q R5 24Q S3 S5 )
0~1V (INP1=AN4) (R1 2KQ R4 100Q S1 S4 )
0~5V (INP1=AN4) (R2 10KQ R4 100Q S2 S4 )
1~5V (INP1=AN5) (R2 10KQ R4 100Q S2 S4 )
0~ 10V (INP1=AN4) (RS 22KQ R4 100Q S3 S4 )
2~10V (INP1=AN5) (R3 22KQ R4 100Q S3 S4 )
9896489609848 98964869648
(PC) (PC)
1 M8 #)rY
=174 [1R2 psit 2
== 1 i
20 [ih @) mEm ¥ - [=h
72 x72 72x72
(PC ) (PC)
¥ B[Ir1 Fsik §
[t 1574 (73 § S2f54§ %
(B 1[irE [1rE § S38S58
[1} [1B . .[8] [8] . . [ib [1h
48 x4 8 48 x48
(PC ) (PC)
1 11 Wird s1
NEEE s2 s4|@
I §IRA|IRE 2S30S51
4 [o] [¢] [6] [51  [13

18




10.2 ( )

SET 2 (2—-—=- 1 ANL ANH
ANL1=0
ANHI1 = 5_0_0(_)_ | NPUB Vel
LSPL =0 4
USPL=5000
Vl UseltevPBPV
Im A

2MA

AN H PV=-5000

dnA, PV OChecKk Low
2MMA, PV 50@heck) [Hi gh

NO oK

YES

=LSPL =USPL

=20 =50
LSPFL20 USPI50 DP 0000

19



11.
11.1 LEVEL 4 (Set Level)

1

11.1.1 (INP2)
INP2=0

INP2=1 10~50mV / 4~20mA / 1~5V / 2~10V
INP2=2  0~50mV / 0~20mA / 0~5V / 0~10V

Remote SV PFY
(INP2=0)
11.1.2 (OUTY)
ouTY=0
ouTY=1
ouTY=2
OuUTY=3 (Motor Valve)
ouTY=4 SCR ( )
OuUTY=5 SCR ( )

SV



11.2 (RAMP) & (SOAK)

( FY )
11.2.1 (RAMP)
| . SET2.1"1" ( ALB3 SET4.1"1 ( ALDS3
. ALD3 "9 ( RAMP AL3)
. RAMP AL3
RAMP 00B9DOI
/mi n
O O ()( O?AMP ALD3 0)
11.2.2 (SOAK)
l. ALD1/ALD2 "19°( p.15 )
. AL1/AL2
000990 . )
11.2.3
SV=100 RAMP=10.00 ( / ) AL1=00.10 PV=25
) ( ) ( )
PV @00 AL1 on
( SOAK )
i AL1 off l
100 &
AL1 00.01 —
00.10 00.10 —
~_ 7
( ce)
SV=SV+RAMP
SVPV )
PV=25 RAMP SV=PV

21



11.3 REMOTE SV ( FY )
11.3.1
11.3.2 "INP2’(  SET Level ) 1 2
INP2=1 10~-50mV / 4~20mA [/ 2~10V
INP2=2 0~50mV /0~20mA / 0~10V
11.3.3 ANL2 ANH2 (INPUT2)
11.3.4 SETO0.3=0 None
11.35 SET0.3=1 Remote SV ( INPUT2
11.4 ALT1/ALT2/ALT3 (
1. ALT1=0
2. ALT1=99.59
3. ALT1=00.01 ~99.58 (delay)
115 “SETA” (SETA
SETA
0{0]0|0

SETA. 4=0
SETA. 4=1
11.6 SETS8
116.1 SET8.1=0
SET8.1=1 (
116.2 SET8.2=0
SET8.2=1 (

11.6.3 SET8.3=0
SET8.3=1 PV
11.6.4 SET8.4

PFY

SETA. 2ARRe "'y
SETA. 3ABRel"®y

|—SETA. 1AMNRe I"@'Y }

PFY

FY

HYSM)

PFY
PFY



11.7

11.71
11.7.2

11.7.3

11.7.4

11.8

11.8.1

11.8.2

11.8.3

11.8.4

11.9

SET9

SET9.1

SET9.2=0
SET9.2=1
SET9.3=0
SET9.3=1
SET9.4=0
SET9.4=1

SETO

SET0.1=0
SETO0.1=1

SET0.2=0
SETO0.2=1

SET0.3=0
SET0.3=1
SET0.4=0
SET0.4=1

WAIT

WAIT=0
WAITZ 0

PFY

SV

PV

TTL

User Level

AL3

Remote SV

| NPUT

Timer ” 7 ”
SV
MASTER
RATE( p24
[1] b”
“a’ (Don' t care)
Level

23
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12.

12.1 ( mm)
A
+ |+ |+ |
D
C
A B C D
FY400{ 44.5+0.54.5+0.565 70
FY600f 90.5+0.54+@®. 5 111 70
FY700f 68.5+0D.68.5+D.5809 94
FY800f 44.5+0.80.5+0.565 116
FY900f 90.5+0.80.5+0.5111 116
12. 2 mm)
E
F
et
G H
E F G H
FY400 50 50 17 80
FY600 96 50 17 80
FY700 74 74 17 80
FY80O0 50 96 17 8 0
FY9O0O 96 96 17 8 0

24




1. TTL SV RATE( )
> RATE(TTL slave )
11.10 RATE SET0.2=1
11.11 AL3 SET2.1=1
11.12 ALD3 SET4.1=1
11.13 ALD3 =0
11.14 Slave SV = (RATE+9999)x(Master SV)
>
Q O] ) Q a) O]
wn w [nd wn X n
PFY900 FY900 FY900
master slave 1 slave 2

SV (SETO0.1=1)
IDNO=0 (SET5.4=1)

IDNO=1 (SET5.4=1) IDNO=2 (SET5.4=1)
BAUD=2400 (SET5.4=1) BAUD=2400 (SET5.4=1)

BAUD=2400 (SET5.4=1) RATE RATE
10Q0 A A
SV sV SV
k— = l— & k! "
1 1 1
SV_1=1000 RATE = 9000 RATE = 8000
TM_1=01.00 slave 1 SV=900 slave 2 SV=800
OUT_1=100%
OUT_2=0%
( SV )

25



A\

(

)

FY900/PFY900 FY700/PFY700

(OUT1)

SCR

OouUTY=4

CLO1=0 CHO1=4500 (
CLO1=0 CHO1=4000 (

o o)
/\

*%

//"___13
SCR
| ——0
Gl L o
K1 //’—
s —=—1—0

26

Gl

K1

G2

K2

10dd

(Phase




3. ( TRIAC )

> FY900 / PEY900 FY700/PFY700
> (OUT1) SCR
> ouUTY=4
CLO1=0 CHO1=4500 ( )
CLO1=0 CHO1=4000 ( )
s ;R
O G1
T2
TRIAC
L 0 K1
Gl (
_ T1 . Qo @2
O K2

S
C
S
<
L0d

* % (phase

QY VO

12w

100Q 0.1uf/630V
| ®
| | AC

27



4. (  DIODE/SCR )

> FY900 / PFY900
> (OUT1) SCR
> OUTY=5
CLO1=0 CHO1=4500 ( )
R S T
—Q G1
/
K1 K 2 K3 DIODE/SCR / K1
G1 G2 G3
—0 G2
\ V é
(,_——43 K2
/——o G3
~Appr<—L 0 K3

28
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Ou

(OUT1)

(  SCR )

FY900/PFY900 FY700/PFY700
FY400 / PFY400

SSR
ouUTY=0
CYT1=1
ﬁos
—Q Gl
SCR
Q

A F\:F\

QD

N?

<

L; } i
104d

VAVAY,

ON

( CYCLE TIME)

=200 mSEC.

; —

OFF




A\

(OUT1)

T1

( TRIAC)

FY900/PFY900 FY700/PFY700

FY400/ PFY400
SSR
OuUTY=0
CYT1=1
I% R
™
' o QO a1
TRIAC o
Gl o a2
(o]

104d




7. ( SCR )

> FY900 / PFY900

> (OUT1) SSR

> OUTY=0
CYT1=1

|Z| /‘_O RG1
O RG2
SCR ]
TG1
Q TG1
TG 2

4—,%4—0 TG2
UE v Ow

WE CAN SUPPLY

HEATER SINK ‘ Z :

104d

ON

(CYCLE ) Tl ME N _
= 200 mSEC.

31



Y VvV

( TRIAC)

FY900 / PFY900
(OUT1) SSR

ouUTY=0

CYT1=1

RG 1
(RG 1) T2o (TG 1) —0O (RG2)
Qo —O (TG1)

(RG 2) | gL (62 ]
- %«J Q (1G2)

32
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9. (Motor Valve)

> FY900 / PFY 900 FY800/PFY800 FY600 /PFY600
FY700/PFY700 FY400/PFY400
> ouTY=3
CYT1=1~100 ( 5 )
RUCY=5 ~ 200
( 5 , )
1. CYT1=1~ 100 5 CLOSE/OPEN

5 ( CYT1)  PV=SV

2. RUCY=5~ 200 5

(Mot or) Val ve

COM
Q— R
CLOSE ouT2
—Q O O Relay
CLOSE
O O O
R OPEN
O O
OPEN
Py CcCOM ouT1
—Q) hg l O Relay
S




10. RS485

R&8

5

Cab
Com Port Converter

CT

DCE

R = -

Tx ON
Rx ON

l1ConverterCabl e

2. Com Port 30
3.

4.

BaudRlab O

12K M

\

ElE

X




11.

RS232

R332

COM PORAI N

(

COM PORIPI:N

(

DTE )

Pin 3 (T)
> SES
< Pin 2 (R) >E|
< Pin 5 (G) >E|
DTE )

Pin 2 (T)
- »| 0|
< Pin 3 (R) >E|
< Pin 7 (G) >E|

PC

1CABLE

2.

3.

4.

12

Com Port

BaudRIabMO




